
-  t J  _  r  _ { '
io . t l  Y = S, \  *  to-"

,  K= E,3c-
. ' :

{1
. : :  \Lc-=  VD z  " { .X ,s* .  E  j \ . .1

f  f  , t  x+-*-- t

' '

I 'o-= sLrLT/F*L : b t-*b(fuE.L*' f  
t  \ i /

'4- t a"i-/"v /n>- = T  i  F *  \ ' t ' ;  =  , J
d !  \ .  l

10.19 Glycerin (20"C) flows in a 4-cm steel tube with a

^eun uelo"ity of 40 cm/s, Is the flow laminar or turbu- =
lent? Whatisthe shearstressatthecenterofthetubeand 
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at the wall? If the tube is vertical and the flow is down- | . . ,
ward, will the pressure incease or decrease in the direc- = - t1 
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tion of florv::: what rate?
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